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Define following terms with illustration:
(i} Subset (i) Union of two sets
IfA={1, 3} B={5, 6}, C={6, 9} then prove that
() Ax(BNAC)=(AxB)n(AxC)
(i) Ax{(B-C)=(AxB)~(AxC)
IfA={1,2,3, 4}, B=(3, 4,5} C={1,3, 5} verify that
i AUBNC)=AUB N (AUC)
[} An(BuC)=(AnB)U(ANC)
OR

Verify (A U B) = A’ n B with the help of Vienn diagram.

FU={ixe N x<10)A={xe N,x*<10); B={2, 4, 8); C = {(x’-3x’4x = 0}
verify that An (B - C) = (A B) - (A C).
IfU={1,234,56};A={12 3, 4} B={4, 5,6} find
HAUB (i AnB (iii) A’

(iviA-B (VVAAB (vi) (A A BY

-

Explain the properties of determinant.
Solve the following linear equations by Cramer's method.
2Xx + 5y =186

3+ y =11
2 B Kk
If 6 7 4 =11, find value of k.
1 2 1
OR
Define foliowing terms: ,
(i) Identity matrix (i) Symmetric matrix
3 4 -1 31 2
IfA= dB= i
[2 1 0]an [1 0 3]ﬂnd
(i) 2A + 3B (i) 5A - 2B

Find the inverse of the following matrix;

A=

- O N
- N W
N O
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Q.4
(A)

Derive the equation of a straight line passing through two points A (Xi, ¥1)

and B (X2, y2). .

If the distance between (a, -5) and (2, a) is 13 find the value of a.

Find the equation of a line parallet to x — 2y + 3 = 0 and passing from (2, -3).
OR

Derive the equation of a line passing through (xi, y1) with slope m.

The x—intercept of a line is 3 times its y—intercept and it passes through the
point (3, 5), find its equation.

Find the equation of a straight line which passes through the point of
intersection of 5x +y + 4 = 0 and 2x + 3y — 1 = 0 and perpendicular to
2x-y—-9=0.

Explain the rules of limit.
Find the limit of the following:

fim 2 _ 3y fim 5.8
i) xoa X324 (i) x—3 Jx+5-18
x%2-2x-8 X3
i) n”_r)noo T+24+3+...... +n
2n?
OR

i e
If S0 = find x50 L XFD=FKZ2)

X -
Find the limit of the following:
fim 5 lim n fim X, 3% _
() x> L2 (i) N> (1+3] (i) x>0 2-+37 =2
X" - ; X
S YD
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